Efficiency vs dr

0.8

0.7

0.6

efficiency vs AR

0.5

0.4

0.3

0.2

0.1

Ratio
N

—=— DQM_V0001_R

.| —— pom_vooo1_r

000000001 __(
000000001 __ ¢

obal__|

obal__mkFit100PIXLLNO__RECO

mkFit100PIXLL__RECO

il

1072

[ Efficiency vs dr (track,jet) |

1
TP

) 1
min AR

§0.05
00.045
=
%0.04
9.035
>
£0.03
o
j5=E).025
)
0.02
0.015
0.0
0.005

[y

1072

AR

-1

1
(TP, jet)

0.2

........................

........................

.................

......

.........

.........

.........

.........

70 80
Pileup




	Contents
	Page 1


